Fall 2025 Shuttle Sevices

Academic Breaks Transportation

	Day	Date	Destination	Departure Time	Pick-up time	Registration Deadline	Cost
	Friday	8/22/2025	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	8/9/2025	\$10.00
	Friday	8/22/2025	Johnstown Airport		7:00 PM	8/9/2025	\$10.00
ter	Friday	8/22/2025	Pittsburgh Airport		7:00 PM	8/9/2025	\$50.00
Start of Fall 2024 Semester	Saturday	8/23/2025	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	8/9/2025	\$10.00
Ser	Saturday	8/23/2025	Johnstown Airport		7:00 PM	8/9/2025	\$10.00
024	Saturday	8/23/2025	Pittsburgh Airport		7:00 PM	8/9/2025	\$50.00
II 2(Sunday	8/24/2025	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	8/9/2025	\$10.00
f Fa	Sunday	8/24/2025	Johnstown Airport		7:00 PM	8/9/2025	\$10.00
LT O	Sunday	8/24/2025	Pittsburgh Airport		7:00 PM	8/9/2025	\$50.00
Sta	Monday	8/25/2025	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	8/9/2025	\$10.00
	Monday	8/25/2025	Johnstown Airport		7:00 PM	8/9/2025	\$10.00
	Monday	8/25/2025	Pittsburgh Airport		7:00 PM	8/9/2025	\$50.00
	Thursday	10/9/2025	Johnstown Airport	7:00 AM		10/1/2025	\$10.00
	Thursday	10/9/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		10/1/2025	\$10.00
24	Thursday	10/9/2025	Pittsburgh Airport	7:00 AM		10/1/2025	\$50.00
Midsemester Break 2024	Friday	10/10/2025	Johnstown Airport	7:00 AM		10/1/2025	\$10.00
eak	Friday	10/10/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		10/1/2025	\$10.00
r Br	Friday	10/10/2025	Pittsburgh Airport	7:00 AM		10/1/2025	\$50.00
ste	Saturday	10/11/2025	Pittsburgh Airport	7:00 AM		10/1/2025	\$50.00
eme	Saturday	10/11/2025	Johnstown Airport	7:00 AM		10/1/2025	\$10.00
idse	Saturday	10/11/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		10/1/2025	\$10.00
Σ	Tuesday	10/14/2025	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	10/1/2025	\$10.00
	Tuesday		Pittsburgh Airport		7:00 PM	10/1/2025	\$50.00
	Tuesday		Johnstown Airport		7:00 PM	10/1/2025	\$10.00
	Tuesday	11/25/2025	Johnstown Airport	7:00 AM		11/17/2025	\$10.00
¥	Tuesday	11/25/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/17/2025	\$10.00

Thanksgiving Brea	Tuesday	11/25/2025	Pittsburgh Airport	7:00 AM		11/17/2025	\$50.00
	Wednesday		Johnstown Airport	7:00 AM		11/17/2025	\$10.00
	Wednesday	11/26/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/17/2025	\$10.00
	Wednesday	11/26/2025	Pittsburgh Airport	7:00 AM		11/17/2025	\$50.00
han	Sunday	11/30/2025	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	11/17/2025	\$10.00
F	Sunday	11/30/2025	Johnstown Airport		7:30 PM	11/17/2025	\$10.00
	Sunday	11/30/2025	Pittsburgh Airport		7:00 PM	11/17/2025	\$50.00
	Monday	12/8/2025	Pittsburgh Airport	7:00 AM		11/28/2025	\$50.00
	Monday	12/8/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/28/2025	\$10.00
	Monday	12/8/2025	Johnstown Airport	7:00 AM		11/28/2025	\$10.00
	Tuesday	12/9/2025	Pittsburgh Airport	7:00 AM		11/28/2025	\$50.00
	Tuesday	12/9/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/28/2025	\$10.00
ter	Tuesday	12/9/2025	Johnstown Airport	7:00 AM		11/28/2025	\$10.00
nest	Wednesday	12/10/2025	Pittsburgh Airport	7:00 AM		11/28/2025	\$50.00
Sen	Wednesday	12/10/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/28/2025	\$10.00
End of Fall 2024 Semester	Wednesday	12/10/2025	Johnstown Airport	7:00 AM		11/28/2025	\$10.00
1 20	Thursday	12/11/2025	Pittsburgh Airport	7:00 AM		11/28/2025	\$50.00
Fal	Thursday	12/11/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/28/2025	\$10.00
d of	Thursday	12/11/2025	Johnstown Airport	7:00 AM		11/28/2025	\$10.00
Ene	Friday	12/12/2025	Pittsburgh Airport	7:00 AM		11/28/2025	\$50.00
	Friday	12/12/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/28/2025	\$10.00
	Friday	12/12/2025	Johnstown Airport	7:00 AM		11/28/2025	\$10.00
	Saturday	12/13/2025	Pittsburgh Airport	7:00 AM		11/28/2025	\$50.00
	Saturday	12/13/2025	Blair Co Airport/Altoona Transit Center	7:00 AM		11/28/2025	\$10.00
	Saturday	12/13/2025	Johnstown Airport	7:00 AM		11/28/2025	\$10.00

Regular shuttles will operate according to this schedule. All other requested shuttles operate if vans and drivers are available.

Shuttles are reserved exclusively for full-time students ONLY. Shuttles depart from & return to the SFU campus only.

Transportation charges must be paid in full upon reservation.

Drivers are undergraduate and graduate students who are certified to operate university vehicles.

The Center for Student Engagement reserves the right to cancel any shuttle due to lack of interest or based on road conditions. With any anticipated weather conditions, we seek the approval of the Department of University Police and Public Safety before executing any transportation service.

Updated 6/8/2025

International Education Shuttle Services

	Day	Date	Destination	Pick-up time	Registration Deadline	Cost
Ľ	Sunday	8/17/2025	Pittsburgh Airport	7PM	8/9/2025	\$50.00
atio	Sunday	8/17/2025	Johnstown Airport	8PM	8/9/2025	\$10.00
al Educat Services	Monday	8/18/2025	Pittsburgh Airport	7PM	8/9/2025	\$50.00
	Monday	8/18/2025	Johnstown Airport	8PM	8/9/2025	\$10.00
ternation	Tuesday	8/19/2025	Pittsburgh Airport	7PM	8/9/2025	\$50.00
	Tuesday	8/19/2025	Johnstown Airport	8PM	8/9/2025	\$10.00
	Wednesday	8/20/2025	Pittsburgh Airport	7PM	8/9/2025	\$50.00
	Wednesday	8/20/2025	Johnstown Airport	8PM	8/9/2025	\$10.00

Updated 6/8//25

Weekly Transportation Shuttle Services

			FALL 2024				
	Day	Date	Destination	Departure Time	Pick-up time	Registration Deadline	Cost
	Friday	8/30/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
st	Friday	8/30/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
August	Friday	8/30/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
Ā	Sunday	9/1/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	9/1/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
	Friday	9/6/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	9/6/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
	Friday	9/6/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday	9/8/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	9/8/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
	Friday	9/13/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	9/13/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$ 10.00
	Friday	9/13/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$ 10.00
er	Sunday	9/15/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$ 10.00
dme	Sunday	9/15/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
September	Friday	9/20/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
Š	Friday	9/20/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$ 10.00
	Friday	9/20/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$ 10.00
	Sunday	9/22/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$ 10.00
	Sunday	9/22/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
	Friday	9/27/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	9/27/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$ 10.00
	Friday	9/27/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday		Altoona Transit Center/Blair Co. Airport			3 PM previous Tuesday	\$10.00
	Sunday		Johnstown Airport			3 PM previous Tuesday	\$10.00
	Friday	10/4/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
	Friday	10/4/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday	10/6/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	10/6/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00

	MIDES	EMESTER BRE	AK Saturday, October 12 - Tuesday, October	15 See Academ	ic Break Calenda	ar for Schedule	
	Friday	10/18/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	10/18/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
	Friday	10/18/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday	10/20/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	10/20/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
	Friday	10/25/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	10/25/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
	Friday	10/25/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday	10/27/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	10/27/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
	Friday	11/1/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	11/1/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
	Friday	11/1/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday	11/3/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	11/3/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
	Friday	11/8/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	11/8/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
	Friday	11/8/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday	11/10/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	11/10/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
E	Friday	11/15/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	11/15/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
November	Friday	11/15/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
ž	Sunday	11/17/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	11/17/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00
	Friday	11/22/2024	Johnstown Airport	7:00 AM		3 PM previous Tuesday	\$10.00
	Friday	11/22/2024	Blair Co Airport/Altoona Transit Center	7:30 AM		3 PM previous Tuesday	\$10.00
	Friday	11/22/2024	Altoona Transit Center	3:45 PM		3 PM previous Tuesday	\$10.00
	Sunday	11/24/2024	Altoona Transit Center/Blair Co. Airport		5:15PM/6PM	3 PM previous Tuesday	\$10.00
	Sunday	11/24/2024	Johnstown Airport		7:30 PM	3 PM previous Tuesday	\$10.00

	Friday	11/29/2024	Johnstown Airport	7:00 AM	3 PM previous Tuesday	\$10.00			
	Friday	11/29/2024	Blair Co Airport/Altoona Transit Center	7:30 AM	3 PM previous Tuesday	\$10.00			
	Friday	11/29/2024	Altoona Transit Center	3:45 PM	3 PM previous Tuesday	\$10.00			
	THAN	THANKSGIVING BREAK Wednesday, November 27 - Sunday, December 1 See Academic Break Calendar for Schedule							
er	Sunday	12/1/2024	Johnstown Airport	7:00 AM	3 PM previous Tuesday	\$10.00			
qu	Sunday	12/1/2024	Blair Co Airport/Altoona Transit Center	7:30 AM	3 PM previous Tuesday	\$10.00			
Dece		10/1/00004		0.45 0.4		.			
	Sunday	12/1/2024	Altoona Transit Center	3:45 PM	3 PM previous Tuesday	\$10.00			

Weekly Transportation Shuttles will operate according to this scheduled ONLY.

Shuttles are reserved exclusively for full-time undergraduate students ONLY.

Transportation charges must be paid in full upon reservation.

Drivers are undergraduate and graduate students who are certified to operate university vehicles.

The Center for Student Engagement reserves the right to cancel any shuttle due to lack of interest or based on road conditions. With any anticipated weather conditions, we seek the approval of the Department of University Police and Public Safety before executing any transportation service.

Weekly Shopping Trips

Day	Destination	Departure Time	Seats available
Monday	Walmart (Ebensburg)	7:00 PM	2 x 6 passenger vans
Tuesday	Logan Town Center (Altoona)	6:00 PM	1 x 6 passenger vans
Wednesday	Richland Town Center (Johnstown)	6:00 PM	2 x 6 passenger vans
Thursday	Walmart (Ebensburg)	7:00 PM	1 x 6 passenger vans
Friday	Logan Valley Mall (Altoona)	5:30 PM	2 x 6 passenger vans
Sunday	Altoona or State College	12:15 PM	2 x 6 passenger vans

Shopping trips only operate during the fall and spring academic semesters. Shopping trips are reserved exclusively for full-time undergraduate students. There is no charge for this service.

Drivers are undergraduate and graduate students certified to operate university

The Center for Student Engagement reserves the right to cancel any shuttle due to lack of interest or based on road conditions. With any anticipated weather conditions, we seek the approval of the Department of University Police and Public Safety before executing any transportation service.

Current 6/8/2025

